91.

92.

93.

24,

95.

96.

97.

a8.

am—IV (1) / P
TfoTd e fa@ / MATHEM

91.

fou m fm i AB=AC 3R ZACD=105° %,
T £BAC U= 2
A

[ nlos®

B < D

(1) 60° (2) 105°

(3) 30° (4) 75°

o (B- A) 1 30% = (A+ B) F 18% @, Tl
A A: BRI

(1) 4:1 (2) 5:3

(3) 1:4 (4) 5:2

q) WA 3:4 F FII@ H €| I Hodo Tl
;ﬁowwzozs%lmaﬁma\m

(1y 72 (2) 86
(3) 68 @) 91
Al a# b=(axb)+b &, A 5% 7 9R 2
(1) 35 (2) 42
(3) 12 (4) 59

Fefefaa & @ -6 @it fem H
fafu 27 :

(1) Tege faf

(2) o= fafy

(3) FI-enuiid fafa

(4) weA fai

T qE B 20% M T S R AR I aw
% 4 o4 €50 95 Y iR e gea of 3@
Fa 30 a2 W A A9 3L% FH A T 2,
W A g B

(1) ¥851 (2) ¥852
(3) ®850 (4) €853
(x —2)(x - 9) 1 <A WM B

49

s 2) 0
(1) . (2)

11 49
{3) g (4) T
(272)2 - (128)2 1 @@ Im A
(1) 200 (2) 240
(3) 256 @) 144
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92.

93.

94.

95.

96.

97.

98.

ART—IV (1)
ATICS AND SCIENCE

given figure AB=AC anq

In the 5° then ZBAC is equal to
A

105°

Feoi D

(2) 1056°
(4) 75°
18% of (A + B), then the

B
(1) 60°
(3) 30°
If 30% of (B~ A) =
ratio A: B will be
(1) 4:1 (2)
(3) 1:4 (4)

numbers are in the ratio 3:4. The
1?02111(:'{ of their HCF and LCM is 2028.

543
5:2

”?hc sum of the numbers will be

(1) 72 (2) 86

(3) 68 (4) 91

If a* b=(axb)+b, then 5% 7 is equal to
(1) 35 (2) 42

(3) 12 (4) 59

Which of the following is the best
method to teach geometry?

(1) Play method

(2) Drill method

(3) Formula-based method

(4) Display method

An article is sold at 20% profit. If its cost
price is increased by ¥50 and at the
same time if its selling price is also
increased by ¥30, the percentage of
profit decreases by 31%, then the cost

price is
(1) ¥851
(3) ¥850

(2) ¥852
(4) ¥853

The minimum value of (x-2)(x-9) is
iy 2

(2) ©
11
11 49
(3) G (4) i
Find the square root of [272)24128}2‘,
(1) 200 (2) 240
(3) 256 (4) 144



99

. qui Fi "-Eﬂ & Melia s1Rr 3P FE F
fow st 4 fnsfefig i 4 f fEwE wdm
foF=n s w27

(1) 9B &
(2) wifdem afge
(3) T
(4) =l
100. f=ferfaa 3§ 4 - e i 27
(1) g
(2) HIER ZTRTazE
(3) =
(4) ATRfIEH
101. Frafafea # & #-) urg afs 2@ 27
(1) @i (2) foom
(3) wHIZIEZ (4) ferdrze
102. frefafean aiged 4 4 #a-m za 27
(1) 3wl (2) BEH
(3) % (4) HIEHTH
103. frm At 3 el am, Hean 6 g A7
(1) *ead mEen
(2) denfHa Hewfem
(3) IEsHF =
(4) w0 #0
104. @ o § ‘€r-F 2 g
(1) favgsgmd a9
(2) Izafda
(3) 2 =gl
(4) sharfoe fEn
105. ‘FEA’ #
(1) Tats 7ol =1 9= 9M
(2) FEREA F A foeraa
(3) NaCl %1 Hgn faem
(4) Na,S04 F Fef foer
106. & ¥l F FH @1 ¥ THR T WIF 7 @
(1) 3 (2) FESE
(3) uwfeetm (4) HTRISA
107. =g © ArzZrem T\ # ufeera @
(1) 78 (2) 215
(3) 40 (4) 3
108. 2 2
(1) A=A T TF ATEY
(2) AT *1 TF AHET
(3) wfad= 1w A
(4) iR % T TR
Paper-2/D
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99.

100.

101.

102.

103.

104,

105,

106.

107.

108.

Which of the following properties of
waler can be used to explain the
spherical shape of rain droplets?

(1) Surface tension

(2) Critical phenomenon

(3) Viscosity

(4) Pressure

Which of the following is a greenhouse
gas?
(1)
(2)

Nitrogen

Carbon dioxide

(3) Argon

(4] Oxygen

Which of the following metals is not a
mineral?

(1) Bauxite (2) Gypsum

(3) Hematite (4) Limonite
Which one of the following non-metals is
liguid?

(1) Iodine (2) Sulfur

(3) Bromine (4) Phosphorous
Which scientist discovered the

radioactive element, radium?

(1) Albert Einstein

(2) Benjamin Franklin

(3) Isaac Newton

(4) Marie Curie

What is the reason of ‘stone-cancer’?
(1) Global warming

(2) Radioactivity

(3) Acid rain

(4) Bacterial activity

‘Brine’ is

(1) common name of bleaching powder
(2) aqueous solution of chlorine

(3) saturated solution of NaCl i
(4) aqueous solution of Na,SO4

The gas used in artificial ripening of
green fruits is ,

(1) ethane (2) hydrogen

(3) acetylene (4) nitrogen

The percentage of nitrogen gas in the air
is

(1) 78 (2) 215
(3) 40 4) 3
Ozone is

(1)
(2)
(3}
(4)

an allotrope of oxygen
an isomer of oxygen
a compound of oxygen
an isotope of oxygen

| BT



109. m Zo09M % T W 1 wAN p 2| qEh TS

T grft
(1) p3m
(3)

(2) p%/m

mp 4 p2/2m

110. 4, 10 ¥ 20 30\ % afddi ¥ ww=R @
ﬁlsaﬁnﬁézﬁﬁaﬁ@arm%mfmaﬁ
ar B (A = V)

(1) 6A 2) 4 A

(3) 8A 4) 2 A
111.Wwﬁﬁﬁﬁq-m@m

(1) fwa (2) @

(3) | (4) Hr

112, @f7 f wre afyma 3
(1) @8 (2) fraiq #

(3) amgd (4) M@ H
113. 3@ #4 F} wF T3 1 WW | vz §, 79 39

T FoRE TR R T e 27
(1) &4 sEwm

(2) FW ram

(3) Torgq st

(4) v o A wiE 7E

114. TF g9d g BHGA Q90 W nfaa B 60°
1 0 FATE B, T TEEA-HI FG1 B Y
(1) 60° (2) 90°
(3) 30° (4) 120°
115. f=fafaa 4 8 @m-w o= &1 FdHmm
TR 87
(1) wferm (2) %54
(3) g@ﬁ‘-ﬁﬁﬁ (4) A
116. 919 & Ham 3R 9 % UG ¥ FA-H ifer
ufy wm il A 27
(1) (2) SAHHA
(3) A (4) =
117. & i SR da 3
(1) 1077 ¥ (2) 1078 &M
(3) 107 @i (4) 107 WA
118. 398 @ fraa X-frwil @1 anfaen fern?
(1) Tzom (2) HeEdw
(3) T (4) <rwEed
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109.

110.

111,

112.

113.

114,

115.

116.

117,

118,

Momentum of a par;ic]g of mass m ig 5,
[ts kinetic energy will be

qap gt () p*/m
o e (@) p?/2m

A battery of 15 volt is connected tg 4
garallel group ol resmtgnces 01'_4, 10 anq
70 ohm. The current in the circuit wjj

be (A = ampere)
(1) 6 A

(3) 8A

Which one of the following materials s
ferromagnetic?

4 A
2A

(2)
(4)

(1) Nickel (2) Wood

(3) Gold (4) Manganese
The speed of sound is maximum in
(1) water (2) wvacuum

(3) air (4) steel

When a glass rod is rubbed with silk,
then which type of charge is created on
it?

(1) Positive charge
(2) Negative charge
(3) Electric charge
(4) None of .the above

On a moving plane mirror, incident ray
forms an angle of 60°, then what will be
the reflected angle?

(1) 60° (2) 90°

(3) 30° (4) 120°

Which one of the following is a
renewable resource of energy?

(1) Petroleum (2) Ground water
(3) Natural gas (4) Coal

Which physical unit is obtained by the

ratio of momentum and velocity of
matter?

(1)

Acceleration (2) Mass
(3) Velocity (4) Force
One nanometer is equal to
) 177 gm (2) 1078 em
(3) 107 ¢m @) 1072 em
Who discovered X-rays?

(1) Réentgen (2) Maxwell
(3) Rutherford (4) Torricelli



119. ﬁtlﬁaﬁﬂaﬁéﬁwmwwﬁﬁammﬁ%?

(1) foes (2) ufsfers

@) e ()
120. 3¥ETH T

(1) Sg=m (2) usfi =

(3) @ = 4) w&
121, IEEF FE a2 3

(1) civg & (2) g A

(3) 7RI Y (4) =EE A
122.tmm,@lzﬁazﬁ1mﬁmaﬁamzéammﬂ

EEEEIERCIE A

(1) b (2) W

@) = (@) g
123. Wi A EF-wverem ¥ e st o 2

(1) (2) AreErem

(3) Hifirm (4) e
124.?1::{%%13@@:—@1@%@1?@@

(1) TR () ememfa

(3) Tehzm (4) e
125. uffafem sfadfas zard wm o 3

(1) FE=#

(2) ¥ |

(3) Sffamy &

(@) Hfie-gfa e 3
126. Frafafaa 3§ A F9-w S 1 w6 6 87

(1) ¥iém (2) =4

(3) faafim (4) TS
127. DNA % #ifen iz %1 Fgl 9 2

(1) A 2) ¥

(3) HreH (4) T
us.?m%ﬁgaﬁaﬁwww -G T

?

(1) <ifm (2) ®HR

(3) fufeia (4) Ffewan
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119,

120.

121.

122,

123,

124,

125.

126.

127,

128.

Which one of the following is not a
natural fibre?

(1) Silk (2) Acrylic
(3) Cotton (4) Jute
Ginger is the modification of
(1) root (2) leaf
(3) stem (4) fruit
True fruits develop from

(1) thalamus (2) petal

. (3) ovary (4) sepal

Plant which reproduces by means of
spores instead of seeds is

(1) coriander (2) fern

(3) mustard (4) petunia

The element, essential for synthesis of
protein in plants, is

(1) copper (2) nitrogen

(3) magnesium (4) iron

Which one of the following is not a
non-communicable disease?

(1) Hypertension (2) Arthritis

(3) Rickets (4) Cholera
Penicillin antibiotic is obtained from
(1) fungi

(2) algae

(3) bacteria

(4)

blue-green algae

Which one of the following is not a
source of energy?

(1) Protein (2) Fat

(3) Vitamin (4) Carbohydrate
The coding segment of DNA is called
(1) muton (2) intron

(3) codon (4) exon

Which of the following is not g2
micronutrient?

(1) Sodium (2) Copper

(3) Silicon (4) Calcium

[ P.T.O,



129.

130.

131.

132.

133.

134, 7 fargali (3,5), (6,y) W (-3 4) F HxF

af uw WA wdw g w g Fwfen
s, @9 ek @l gs ¥ aewe d R
ufaerd 61 gfg Bnfi?

(1) 200% (2) 300%

(3) 150% (4) 600%

WDy g HEEA3d &
3 2 1

(1) 38 (2) 4

(3 35 4 S

K ® WA 3@ Five e g wfieo
x-Ky=2, 3x+2y=-5 1 Afgedid & Q|

-2 2
(1) K?‘_é' (2) K—E
2 -2
3) Kz= 4 =
(3) ¢3 4) K 3

A Tl m = 6 fe7 8 w5t 1 B I FW A
8 fm o qu ol @1 C I FW H W FA A
I WHA ol § foad ' § A 3R B et
FH B W FA &1 B 3N C fram 3@ Fm

1 forea foq & qu w1 7
(1) 151?:‘::1 (2) 4 f&
(3) 5 f= (4) 2%1%::

uw e # U & % 30 BT B W N
3! 1 WA 585 1| R H, ¥ I g T

TH B H THF 75 F R W 57
sifa 8 T o) HE) Wieg I i

(1) (2)
(3) (4)

519 591

209 289

(x, y) §, A x T y F1 4F Fa AT
9 9

1 =2, =— -=— )

(1) x ¥=3 (21x2.y3

(3) x=2, y=3 4) x=3, y=2
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129.

130.

131.

132.

133.

134,

If each edge of a cube is doubled, then

the percentage increase in its total
surface area is
(1) 200% (2) 300%
@) 150% (4) 600%
+b+2¢c .
1§ 2=2-€ then E———g——— is
2 1

(1) 38 (2) 4
(3) 35 (4) S
Find the value of K for which equation
x-Ky=2, 3x+2y=-5 has unique
solution.

-2 2

— 2) K==
(1) K# - (2) 3

2 -2

= 4y K=—=
(3) K= 3 (4) 3

A can do a work in 6 days. B takes
8 days to complete it. C takes as long as
A and B would take working together.
How long will it take B and C to
complete the work together?

(2)

1
(1) 15 days 4 days

(3) S days (4) 2% days

In an examination, the mean of marks
scored by a class of 30 students was
calculated as 58'5. Later on, it was
detected that the marks of one student

was wrongly copied as 57 instead of 75.
Find the correct mean.

(1) 519

(2) 591
# 20 (4) 289
If centroid of the . i
-3,4) i points (3, 5), (6 y) and
(Slr?,d4i;.ls (x, y), then find the values of X
(1) x=2 .;2 9
Y 2 (2) x=5, y=3
B) x=2, y=3 4) x=3, y=2









